KOC UNIVERSITY
MATH 101
Midterm 1 March 06, 2008

Duration of Exam: 60 minutes

INSTRUCTIONS: No caleulators may be used on the test. No books, no notes,
no questions, and talking allowed. You must always explain vour answers and show
your work to receive [ull credit. Use the back of these pages il necessary, Print (use
CAPITAL LETTERS) and sign your name. GOOD LUCK!
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Problem 1 (15 pts) Write the equations of the lines passing through
(a)(5 pts) (3.7) and (5.8)
(b)(5 pts) (2.3) and (2.4)
(c)(5 pts) (1,3) and (2,3)
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Problem 2 (20 pts)Consider f(r) = 2% — 62 + 8

(a)(5 pts) Find the vertex of the graph of the funtion.
(b)(5 pts) Find x and y-intercepts of the function.

(c)(5 pts) Find the domain and the range of the function.

(d)(5 pts) Sketch the graph of the function.
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Problem 3 (20 pts) If log2 = a and log3 = b,write the followings in terms

of a and b.

(a)(4 pts) log 48

(b)(5 pts) logs

(e)(4 pts) log 75

(Hint:Where the logarithm is of base 10)
(d) (7 pts) Solve log.,(x)+log(x + 1)=1
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Problem 4 (25 pts) Find the inverse functions of
(2)(9 pts) y=3""4+4

(b)(9 pts) y=4log,(3r — 2)+5

(e)(7 pts) y=+15
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Problem 5 (20 pts)
(a)(10 pts) Prove that sin®a + cos’a = | for any a

(b)(10 pts) If § < a < 7 and sin(a) = ﬁ Jthen find cos o, tan a,cot agsec a,esc o
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